/g/ ‘éM Downm

f’ "

X mxﬂS O

urZ

%ﬁwrk RS =V-8x ) Solve by 7@&1@&‘«6
i

(x5 )(xt 3) =0 i)

K}(%z;)%xr/f\—@ Xz Vreez
i L4 L8 -

Bl ]

x (xt3)ysix+z) 0 |

Mé a0s X = 3z

| Bo puer HD

( D A"’:-T%#\: ﬁ:"?
\_\_________..-— \

&) Fmﬂ dex [ ,,) L) 15

L Modes e @,&A ﬂaﬂﬂ‘

Go orver PC

#F C whl:c ;_4_..“ QZE_S:S_ 7Li"_\»9_-_ftf‘_?aw_ o




Algebra // é/?/7Name L/} /ﬁ,f’éﬁt { /UD Jf"f L)oam:,—j

Graph Paper 0
1) J-kY ,/g{.IS
" 1i | ,j{ )= 3(x-a\ 5
A Voot (2,5)
| - Avs ' X= =
T “___F_‘__ 4 x \ - [ A 5
{- 1] B i —4 2 1 IL ! %7————- g / 3 ‘2) +
215 >/:/7
'I | y= 3Z»~;L)R+5
o {‘ y: &
YO
2) y a0s A) &
R\j ' ! [l = & (x-4)
i [ Verbex (4, 0)
e \ / ao0s: Xz Y
s
\ X N
W 4 __// L D"g S, >/:: ;/0—‘/)
% 0| B i | s 02 ol ) >/"8
~ A N
- man 10 = 4(a)
] ,*1 t N y= L
- | |




